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(A) HF>HCI>HBr>HI (B) HI>HBr>HCI>HF

(C) HCI0>HCI02>HC105>HC104 (D) HIO:>HC104>HBrO4
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(A) ¥ HaSO4 (B) KOH (C) P20s (D) CuSO4
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19, 5 FeSO, F#k HaSO04 fE R A= 42 . 3F 2 7 AL 24 2 ( )
(A)  AL(SO4); (B) KNO; (C) BaCl (D) CuCO;
20, EEE FTHAERETER, ( )

(A) AH<0,AS>0 (B)AH>0,AS>0(C)AH<0,AS<0 (D)AH>0,AS<0

21, BKERE ZnSO. B /B CuS0s BERFE ( )
(A) NazCOs (B) NaOH (C)NazS (D) Zn ¥

22+ Lax(CoOq)s MR 1.1 x 109 mol-dm, HIREFA ( )

(A) 12x 1012 (B) 1.7 x 1028

(C) 1.6 x 1073 (D) 1.7x 104
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(C) FeCl; 5 KBr (D) KI 5 KIO;
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(A) Cu(OH)2 (B) Ag20 (C) Zn(OH) (D) Cd(OH)
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1. T80 AR (Cr (OH) ) =6. 3% 10™, KRB Cr (OH) ,+OH == [Cr (OW) ] {44 7
¥ £ =0.40, (1) HE WIS W ol E; (2) #3 0. 10molCr (OH),
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2. B4 Fe” + e = Fe” - 0,77 v
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Fe(CN)# + ¢ = Fe(CN)$ =036V
Fe + 6CN" = Fe(CN) K, = 1.0%10%
Fm
PHE Fe(CN)§ H K &7 (745>

3. FIERSMAAE 27°C K 100kPa TA 10.0dm?, TERBEHERM S,
FREF 27°CH 100 kPa, B3] 20.0 dm3CO: F 14.44 g HO , BT EME
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